AP Physics -  Nuclear E LP
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Find Binding E of deuterium



Mass of tritium nucleus: 
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Add masses together:
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Binding E:


[image: image5.wmf]3.0251553.0160490.009106

uuu

-=



[image: image6.wmf]931.494

0.0091068.48218

1

MeV

uMeV

u

æö

=

ç÷

èø


Mass of tritium is less than mass of parts.

Mass difference represents energy released

· Calculate the energy released when 1.05 kg of U-235 undergoes fission.  Each fission produces 208 MeV.
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· An unstable nucleus that is initially at rest decays into a nucleus of fermium-252 containing 100 protons and 152 neutrons and an alpha particle that has a kinetic energy of 8.42 MeV.  The atomic masses of helium-4 and fermium-252 are 4.00260 u and 252.08249 u, respectively.

a. What is the atomic number of the original unstable nucleus?
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b. What is the velocity of the alpha particle? (Neglect relativistic effects for this calculation.)
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c. Where does the kinetic energy of the alpha particle come from?  Explain briefly.

Mass Equivalence:  The original nucleus decays into the product particles and energy.

Energy Conservation:  Potential or binding energy was converted into kinetic energy.

d. Suppose that the fermium-252 nucleus could undergo a decay in which a (-  particle was produced.  How would this affect the atomic number of the nucleus?  Explain briefly.

Atomic number increases by one.   A neutron converts into a proton and an electron.
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· A polonium nucleus of atomic number 84 and mass number 210 decays to a nucleus of lead by the emission of an alpha particle of mass 4.0026 atomic mass units and kinetic energy 5.5 MeV.  (1 u = 931.5 MeV/c2 = 1.66 x 10‑27 kg.)

a. Determine each of the following.

i. The atomic number of the lead nucleus

Number of Protons
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ii. The mass number of the lead nucleus

Number of Nucleons
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b. Determine the mass difference between the polonium nucleus and the lead nucleus, taking into account the kinetic energy of the alpha particle but ignoring the recoil energy of the lead nucleus.

The kinetic energy of the alpha particle is the mass difference of the two nuclei.
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c. Determine the speed of the alpha particle.  A classical (nonrelativistic) approximation is adequate.
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The alpha particle is scattered from a gold nucleus (atomic number 79) in a "head‑on" collision.

d. Write an equation that could be used to determine the distance of closest approach of the alpha particle to the gold nucleus.  It is not necessary to actually solve this equation.

At closest approach KE goes to zero and electric potential goes to max (Throw something up and KE is zero while PE is max.  KE become UE)
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